Probability
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3T uTiiedr

Basic concepts of probability theory

1. T¥a@®T (coin) :- Head (Frd) =H 7.
Tail (4€) =T

eI @1 ufaee WA dEd 21 g9 S gRI
fegma Smar 2 |

Event :- Every subset of a sample space is called
an event .It is denoted by E.

HeAT — ey gafte & Uie Twad Bl el
bed €| E &R feman S 2 |

Impossible event :- Empty subset of simple space
is called impossible event.It is denoted by ¢.
IEHT geAT — Uias FHte & R U=y
DI AT TSl Hed T | 39 ¢ 9 fe@mar Sy
g |

9. Probability ( UTRrar ) :-

2. gr4T (Die) :-
3fd (digits) =1, 2, 3,4,5,6 8.
3. ©me @I TS (Playing Cards)
—Total cards (T )= 52

— Group (9¥g ) =4

(1) Red heart (<ITef 9T ) ® =13
.. . : S = Sample space ( Ufcresf FHfte )
(i1) Diamond (¢ ) ¢ =13
E =Event (¥cT )
(iii) Spades (PTITUT) & = 13 B

E
(iv)  Club (S )& =13 P(E) =5y
— Face cards (o= = 12 P(E) = Probability of event E

oAl B al gifdebdr

(1) King ( 91q3M8 =4
n(E) = Number of elements in event E.

geqT E ¥ Iaydl &1 Gwr

(ii) Queen (T ) =4

(iii) Jackle (7T ) = 4

. n(S) = Number of elements in sample space
— Colour group (X HHg) =2

_ yfaesl wafte § srqudl & g
(1) Red Colour ( <fTef ¥ ) =26 (4)
(i) Black Colour (&TaT 3T ) =26 ~ P(¢)= E(s) -0

4 Permutation ( FHE ) Probability of impossible event is zero.

n!
(n—1r)

Combination ( F2d )

nPr —

a — n!
C. r!l(n-1)!

Sample Space ( Ufaeel FHARE ) -

9T TSHT BT U I BT 2 |

~ P(S)= Eg; =1

Probability of sure event is one .

ff¥ed gear &1 gifiedr te BT 2 |

10. P(AUB)=P(A)+P(B)-P(ANB)
The set of all possible outcomes in a random '
experiment is called a sample space. It is denoted 1. P(A)=1-P(A)
by S. 12.  P(A-B)=P(A)- P(ANB)
Pl TRt # o arel Wt wifaa aRemHl &
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Multiple Choice Questions
(ag famedia uz)

What is the probability of sure event ?

(a)
(©)

(b)
(d)

= o=
WI[N W=

8. A die is tossed once, What is the probability of
f¥ed T B URIddr F T BT 87 getting a number greater than 4 ?
(@ 0 b) 1 TS YT T SBTAl T 8, IR | q81 A&l Ui
1 1 B BT UTRrehdT @RI 87
© 7 d 3 | |
What is the probability of impossible event ? (a) £ (b) >
3RFE T B UIRIdHar aaT 2? (©) % d 1
@ o0 (b 1 9. A die is tossed once. What is the probability of
(©) % @) -1 getting the number 8 ?
A coin tossed then the sample space will be T UTET D1 Y R IBTAl AT 8| 8 U< &I
N e B IR @1 8?
g e BT SBTe W ufdest |@Afie R | .
(@ {1,2,3,4,5,6) @ 6 ® 7
(b) (H.T) © 5 @ 0
© {246 10.  Two coins are tossed once. What is the probability
(d) {2,4,6,H,T} of getting 2 heads ?
A die throw one time then sample space will be 27 Rigpl B U IR ISl T & I W 2
T U BT Bepel WX fel W g forcy et &1 b1 i @ 87
(& {HT} () % (b) %
(b) {1,2,3,4,5,6} 1 2
© {135 © 6 @3
(d)  1{1,2,3,4,5,6,7} 11.  Two coins are tossed once. What is the probability
of getting at least 1 head ?
Two coins are tossed once , then number of
elements in sample space are aﬁﬁi ID Zﬁgﬁ?%ﬁ SYTefT AT | ;;q — ¥ — 3H
. . 1 ured UTRIGdT T B
a1 fqa®! BT Tah IR IeTer R ufaest e § ) 1
JIIAT DI FET & (@ & b 7
(@ 2 (b) 6 © 7 @ 3
) 4 d 8 12.  Two dice are thrown once. What is probability of
A coin tossed once, the probability of getting a getting a doublet?
head is TH SIS U BT U R Bl T, U W §H
ve R¥gd B S GR SBTe T, R o 8 3 T IR T 77
1 1
CRCIDES I @ + b) A
@ 1 ) 3 i |
| ) © g @ 15
© 7 (G S 13.  From a well-shuffled pack of 52 cards, a card
A die thrown once, the probability of appear even is drawn at random. What is the probability of
numbers is getting a black card
TS U BT U qR SVTEl T, TH GAT 3 D] ARE WS T 52 I B TEN A A U WA
& uRepar & ATGHAT HBTAT AT | BTel ORI T B ATHRIeh
HT 27?
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1 1 a) 0.15 b) 025
@ ® 15 ® ©
) (¢) 0.5 (d 0,05
5 d 1
© 3 @ 20. IfP(A)= 3 ,P(B)= & ,where A and B arc
14.  From a well-shuffled pack of 52 cards, a card disjoint events then P(A or B) = ?
is drawn at random. What is the probability of '
getting a face card? afd P(A)= 3 ,P(B)= & ,ofef ok TRER e
IS TRE WS T 52 AT B UL H F TP U= e 8, a1 P(A AT B) =2
Argeedl f+IeTell AT | for uxir 819 UTfiehdT & 3 4
g7 (@ 3 b)) 7
1 1 1
(@ 7 b 3 (¢ 75 @ 1
©) % (d) % 21.  If P(A) = 0.42, P(B) = 0.48,and P(ANB) = 0.16
) ] . then P(not A) =
15.  Which of the following can not be the probability
of occurance of an event? :ﬁﬁ P(/:)_g 0.42, P(B) = 0.48 31X P(ANB) =0.16
P(A =
fa=foaRad # & &4 &l ger o afed 89 &) (& =)
TR TR R (a) 0.58 (b) 0.52
B (c) 042 (d 048
@ 0 b)) . g .
4 22. A coin tossed once. The probability of not getting
(©) % @ 1 a head is
16.  Which of the following can not be the probability U RYapl Pl Ueh IR IBTAT AT | T Uy 78
of occurance of an event? B Bl Uiebar 8
1
Prefead & & B Rl gea ) ufed €9 @ 3 ® 1
ANl 3 © S @ 7
@ 0 ® 7 23. IfP(A)= 7, then P(not A) =
4 1
© 3 @ 3 afe P(A)= 5, Y P(ATEN =
17. IfP(A)= %, P(B)= + and P(ANB) = {s then @ 5 b 3
P(AUB) = 1 1
af¥ P(A) = +, P(B) = & 3k P(ANB) = - © 3 @2
(A)=73,PB)=3 ( )= 15 24. A card is drawn at random from a pack of cards.
P(AUB)4: | The probability of the card drawn being a king or
a) 77 (b) = a black card is
3 b 15 black card i .
10 o L TN BT U T ¥ AGesAT Th Il Giell STl
© 13 @ 15 2| O<IT & TGRS AT Blel T B B DI ATRIBAT
18. IfP(A)=0.35,P(ANB)=0.25 and P(AUB) = 0.6 grfT s A
then P(B) = @ ¢ (b) 5
Ife P(A) =0.35, P(ANB) = 0.25 3R P(AUB) = © B @ L
_ 52 13
0.6 @1 P(B) =
1 25. A bag containing 4 white and 5 red balls. If two
@ 025 (b) 3 balls are drawn at random from the bag then the
7 g .
© 05 ) 15 probability that both are of the s'ame. colour is '
T Il § 4 AHE 3R 5 A I 2| AR I 4
19 IfP(A)=0.5,P(B)=0.35and P(AUB) = 0.7 then gl 7 W el o8 ar <F AT @ T
P(ANB) = B T B BW B wlidar 8l
afd P(A)=0.5, P(B) = 0.35 3IR P(AUB)=0.7 @l (@) S5 (b) 1
g 108 6
P(ANB) =
WH&T-11 (MO (775




© 3 G

52 TAl & 19 B Ub TSl A U 91918 et
P gTfdr T 8?

26. Ifthree cards are drawn from a pack of 52, what is 1 4
the chance that all will be kings? (@) 13 (b) 13
aft e @ sp T W 3 W o, o e © 35 @ %
@ TIEAE T BT AT R &7 33. What is the probability of getting 2 tails in tossing
(a) SSITS (b) 2;? of a coin twice?
1 :
©  s3ssT (d) None qﬁmﬂaﬁﬁraﬁ% Eal E;mag?swmﬂ R Al IR o
27. If A and B are two mutually exclusive events then . 1
P(AUB) will be (a) 4 b 5
Ife A TAT B T TR OIS geArd &I, dr (©) }T d 1
P(AUB) & 1 &I 34. If three coins are tossed , the probability of
(a) P(A)+P(B)-P(ANB) occurance of three tails is
b P(A) - P(B ~ .
by POV~ F(B) afe A9 Rige! &1 BT A1Q @ A1 g5 3
(c)  P(A).P(B)
(@) P(A)+P(B) T 1
28. If Ais any event and A' its complementry P(A) + (a) 8 (b) 16
PA) =7 © 5 @ 3
;Jf{ A DT 3' _%:f AT ATFHP! b Tl &, 35. A bag contains 10 white and 15 black balls. One
P(A) + P(A) =7 ball is taken out. The probability that it is white is
a) -1 b 1 . o &
@) (®) 1 UHh Iefl H 10 Iofell 3R 15 Prefl MR 2 |
© 0 O ITH F TEH el Fdbrell Sl 21 s9d Iotall
29. If A and B are two events then P(A-B)="? B & UTfddr ©
o 1 2
afg AT B &l gearg 8 df P(A-B)=2? (@ 33 (O
(a) P(A)-P(ANB) 10 QL
(b) P(A)+P(ANB) © 15 @ 1o
(c) P(A)-P(B) ~ _
)  P(A)- P(AUB) 36. IfA,Baretwo e\./ents for Wh%Ch P(ANB) = 0 then
30. The probability of the occurrence of 4 in throwing A AB > & & & P(anB) =0
e (@)  They are mutually exclusive
adieis @ %
Ca i IR 3]
Al ITR#I H1 P H P 4 O H ) g (b)  One is impossible event and the other is
@ 7 b 3 sure event.(Ueh 3GHd T Vg ga¥l iR
1 3 Ycdr
© L @ 3 ¥ )
S ts(FT¥=rd g
31.  The probability of the occurrence of an event is % © ure events( _ ) _
. Then the probability of its non - occurrence is (d)  None of these(FTH PIg ¥ Tel)
) & e 1 3 ar > 37. If the .p.robablhty of the elzveni A is 0.35, the
) ~ 5 probability of A not happening =
T "e @ ufiedr 2
4 2 Ife e AP Widbdr 0.35 8, A ge1 AD
@ 3 b 5 B B9 B uiRiear =
©) % @ 0 (a) 035 (b)  0.65
(¢) 0.75 (d 055
32.  What is the probability of drawing a king from
pack of 52 cards? 38.  The probability of an event lies between
HafT-11 ATOTD) (776




39.

40.

He&T-11 (oI

fedl g & ui¥iedr & 9= 2d @

(a) Oandl1 (b) -land 1
(¢c) land2 (d -landO

Two dice are thrown at a time. The probability that
the numbers shown are even prime is

] U B W 2| SR IAdred el 3 dqH
TS B BT UTfiehar &

@ ® 3¢

35 1
() 3¢ d 17
Three unbaised coins are tossed once. What is the
probability of getting at least 1 heads ?

T Ridd BT T IR IVTT TAT| B T B 1
forT o @1 wfdar w87

@ b
© 3 (@

Very Short Answer Type Questions
(erfa org Sag UeA)

o 1o]—

List the sample space in tossing a fair coin.

U fer Rigedh b1 Sorerd d ufdes wHfte @
L 91T |

List the sample space in tossing a die.

Th I P Sl H wfoae wAfte o g
g |

Two coins are tossed together. List the sample
space.

31 fqgd @1 Te Ay Serar T 8| ufed
FHfte B gl g4 |

Three coins are tossed together. List the sample
space.

qF g o1 T A1 S8Ter 1T § | afiee
FEE BT A a1 |

Two coins are tossed once. What is the probability
of getting 1 head and 1 tail?

a1 R @1 IoTell AT & | U&= 3R b ue
U B PI WIS RIT 87

Three coins are tossed together, find the probability
of getting exactly two heads.

N Riad! BT Th A1 IBTlT ST 8, d S
oIS 3 @ uTfiear Tl |

(177}

10.

11.

12.

13.

14.

15.

Find the probability of the occurrence of 5 in
throwing a dice.

TUh U & Bhd H b 5 & HUR AT P
qTfRredT forepTef |

Find the probability of the occurrence of 2 in
throwing a die.

Uh O @ Bhd H 3fF 2 & HUR A DI
1T fHaref |

IfP(A) = 5, P(B) = § and P(ANB) = 5 then
find P(AUB).

afg P(A) = %,P(B)z % 3R P(ANB) = % ar
P(AUB) &I A ST BIRT |

If P(A) = 0.5, P(B) = 0.2 and P(ANB) = 0.1 then
find P(AUB).

afe P(A) = 0.5, P(B) = 0.2 3R P(ANB) = 0.1 @&
P(AUB) &T A ST BIToTY |

If P(A) = 0.3, P(B) = 0.4 and P(AUB) = 0.2 then
find P(ANB).

Ife P(A) = 0.3, P(B) = 0.4 3iR P(AUB)=0.2dl
P(ANB) &1 A4 aTel |

Tossed a die once, then find the probability of
getting an even prime number.

UH U Bl U dR IVTl ol &, df U |H
TSI HRT 37 DI UTRIBAT S DITTT |

If A and B are mutually exclusive events where
P(A) = 0.2 and P(B) = 0.3, then find P(AUB).

Ife A TUT B IR 3M9qeil geAY &, STl P(A)
=(.2 T P(B)=0.3 d P(AUB) &T #IF ST & |

A coin is tossed once.Find the probability of
getting a tail.

U Rygd BT U IR IVl AT & | U TS 3+
BT UIRIBAT ST BN |

Fill in the blanks .(Rad I} &I W |)

(i) P(ANB) =0 ifthe events A, Bare.......... events.
P(ANB) =0 I ¢ A, B cocovveee Bl |

(i) P(ANB)=P(A).P(B)ifAand B are ......events.
P(ANB)=P(A).P(B)IfE TeA¥ A, B ........... =l

(iii)) P(AUB)=P(A) + P(B) if A and B are.... events.




P(AB)=P(A) + P(B) afg &=V A, B ......... &l |
Short Answer Type Questions
(org S yw)
If P(A) = 8 , P(B) = 3 and P(ANB) = % then g
find the following.
e P(A)= o, P(B) = 5 SR P(ANB) = &
i @1 A et |
(i)P(A") and P(B') 9.
(i))P(A'UB")
IfP(A) = 3, P(B) = § and P(ANB) = § then
find
10.

A2 P(A) = 5, P(B) = 1 iR P(ANB) = §
BT |

(i) P(AUB) (i1) P(A'NB")
What is the probability of throwing more than 4 in
a single throw from an ordinary die ?
T IR BT U IR Db H 4 I g7 g = L
@1 g1 UTiehar 87
Two dice are rolled , then determine the sample
space.
S URT I IBTAT Il &, AT ufasl FHte gmd
X |
In a random experiment , let A and B be event such
that P(Aor B)=0.7, P(Aand B)=0.3 and P(A ) =
0.4. Find P(B).

& ATGFEd URIETT §, AT ATl B &1 "
%‘ﬁrmfr P(A T B) = 0.7, P(A 3iR B) = 0.3 TaIT
P(A)=0.4,P(B) &I A APl
If A and B are two events such that P(A) = 5
P(B)=10.3 and P(A and B) =0.1, Find '
(i) P(A or B) (i1) P(A but not B)

(iii) P(B but not A) (iv) P(neither A nor B)

afg A3R BTI "eql¢ €, P(A)=0.5,P(B)=0.3 3

3R P(ARMRB)=0.1 A A9 ST HITY '

(i) P(A 3T B) (i) P(A IR=J B &)

(iii) P(B kg A =&l)  (iv) P(AT 1A T €1 B)

A bag contains 4 white and 5 black balls. A ball is
WH&T-11 (MO (778

drawn at random from the bag. Find the probability
that the ball drawn is white.

TE Jet H 4 WHE TAT 5 Blell g 2 | I | TH
T rg=e T M SIrdm 8 | Farel 1Y T ha
B BT UIfedT ST o |

A bag contains 3 white and 2 black balls. Find the
probabiliy of drawing a black ball at random.

T et § 3 Il qAT 2 Fiel e T | ATl
TP Hlell g Adre o gifiedr T |

Three coins are tossed together , find the probability
of getting at least two tails.

O Rrdpl BT T 1T SBTAT STl &, O hH ——
T a1 JBI & A B UIRiedr e |

If P(A) = 2P(B) and P(AUB) + P(ANB) = % ,
then find P(A) and P(B).

Ife P(A) = 2P(B) 3R P(AUB) + P(ANB) =
ar P(A) 9 P(B) &1 #19 faTed |

Long Answer Type Questions

(el s geA)

Two dice are thrown simultaneously.Represent the
sample space and the following events.

Tl ORI BT Uh A1 Bdl ST 8, al UTfdedr
e vd fAferRad geamt & uelRia ex—

(i) the sum of the numbers appeard is 5
HUR 3MHaTel bl BT T 5 &
(i1) the sum of the numbers appeard is less than 6

HUR AT Abl BT T 6 F HH &I

(i) the number appeared in the first is greater
than 3

Ugol U & HUR ATl 3(hi 3 W g 8

What is the chance that a leap year, selected at
random, will contain fifty - three sundays?

AP R FHE © b g sfead #H, o fh
ATgeAT AT ST 8, 53 IR BI?

Two cards are drawn at random from a pack of 52
cards.What is the probability that both the drawn
cards are aces?

52 AT & ORI DI TSN QT W AIGESAT Gl
\mdl%%‘lu“idwqwftﬁscm>8ﬁaﬁqﬁw
ER Y




4, Two dice are tossed together.Find the probability ={HHH, HHT, HTH, HTT, THH, THT, TTH, TTT}
of getting a doublet or a total of 6. n(S) =8

%ng g;ﬁ Wﬁg 3 Egﬂﬁf : ?Eﬁ %\r: v fo@ 5. Two coins are tossed once then sample space

z 31 Ryad $I U IR IBTa R gfrest dafie,
5. In a class 30% of the students like Mathematics
’ S={H,T H, T

20% like Chemistry and 10% like both. If a {H, T x{H, T}

students is selected at random, find the probability S = {HH, HT, TH, TT}

that he has like Mathematics or Chemistry. Let E = event of getting 1 head and 1 tail

v a7t # 30 faenedf i, 20% faemedt @ AT E=T% foe 3R v ge o @ "er

qar 10% faemefi sF1 96 @xd I T _ _

E={HT, TH}, n(E)=2
faeneff &1 argeear g Sar € 91 98 I ar { b> n(E)
I UHE HRAT © DI T Uy grfi? <. Required probability (sff¥te uTfiddr)
_n@E) _2_1
Multipule Choice Question PE) = nS) 4 2 Ans.
(g el oy ) 6.  Three coins are tossed together then sample
. b 2 a 3 b 4 b 5 ¢ space,
6. ¢ 7. a 8 a 9. d 10. b A Rya@i 1 U |1T IuTa- IR Ufdesl |Hfe,
16. ¢ 17. d 18. ¢ 19. a 20. b
21, a 22 d 23 b 24 d 25 o S ={HH, HT, TH, TT} X {H.T}
26. a 27. d 28. b 29. a 30. ¢ S = {HHH, HHT, HTH, HTT, THH, THT, TTH,
3. a 32, a 33. ¢ 34. a 35. b TTT}
36. a 37. b 38. a 39. b 40. a n(s) = 8
Very Short Answer Type Questions _ .
(@ifr o S gee) Let E = event of getting exactly two heads
AT E =31% &1 o o &1 geAr
1. The sample space in tossing a fair coin
N _ E = {HHT, HTH, THH}
s et e &1 SeTeq | ufaeel |mfe,
n(E) =3
S={H, T}
.. Required probability (31f¥se uTfrear)
n(S)=2 Ans.
ppy =B _3

2. The sample space in tossing a die, (E) n(S) 8 ns.

TP U Bl SBTa- IR ufaesl wHfte, 7. Throw of a die then sample space,
S={1,2,3,4,5,6} WW@WWWW
n(S)=6 Ans. S=1{1,2,3,4,5,6} ,n(S)=6

3. Required sample space (31 Resl wafic) LetE = eV.th of getting digit 5
AT E = 3@ 5 34 &I g1
S={H, T}x{H, T}
E={5}, nE)=1
S = {HH, HT, TH, TT} .. Required probability (31f¥se UTfresar)
n(S)=4 Ans. n(E) |
4. Required sample space (31fee ufesl wHfte)
S = {H, T} x {H, T} x {H, T} 8. Throw of a die then sample space ,
TP U Bl 3BT R ufaes FHfe,
={HH, HT, TH, TT} x {H, T}
WH&T-11 (MO (779




S={1,2,3,4,5,6} 13. Given, P(A) = 0.2, P(B) = 0.3 and A and B are
Let E = event of getting digits 2. Mutually exclusive events, then P(ANB) =0
: fear 8 P(A)=0.2, P(B) = 0.3 T A 3R BTRER
AMET E = 3id 2 319 &Y gedT e € O P(ANB) = 0
E=1{2} ,n(E)=1 . P(AUB) = P(A) + (B)
.. Required probability (31f¥se Tfremar) — 024023
E
P(E) = EES% = % Ans. =0.5 Ans.
14. A coin is tossed once then sample space ,
: 1 1 1 g BT Th IR IBTAT ST & df ufaee
9. Given,P(A)= 5,P(B)= 3.P(ANB) = W& | hRd
.. P(AUB) =P(A) +(B) - P(ANB
( )1 (1) (1) (ANB) S— T
=2t37y Let E = event of getting a tail
:6+142_3 AT E=Ud US 379 &I gel
_10-3 E= {T},n(E)=1
12
7 .. Required probability (31f¥ee UTfresar)
=12 Ans. (E)
_nlE) 1
P(E) - H(S) 2 Ans.
10.  Given.P(A)=0.5, P(B) = 0.2, P(ANB) = 0.1
15. (i) Mutually exclusive(dRER 39eSil)
~.P(AUB) = P(A) + (B) - P(ANB) _
—05402— 01 (i) independent(¥Id=)
—07- 01 (iii) Mutually exclusive(dREIR 319eSil)
=0.6 Ans. Short Answer Type Questions
(org S<a )
11.  Given, P(A) = 0.3, P(B) =0.4, P(AUB) = 0.2
P(AUB) = P(A) + P(B) — P(ANB) I Given, P(A)= 3,P(B)= % and P(ANB) = §
= P(ANB) = P(A) + P(B) - P(AUB) @)
=0.3+0.4-0.2 P(A)=1-P(A)
.3
=0.7-0.2 =1-3
=0.5 Ans. _8—3
8
12. Tossed a die once the sample space, 5
T IR BT BT R Ufeel Wi, g Ans
S=1{1,2,3,4,5,6} ,n(S)=6 P(B)=1—P(B)
Let E = event of getting an even prime number =1- 1§
AT E = U FH AT FRAT 37 Bl "e _3-1
3
E={2} ,n(E)=1 5
.. Required probability (31 urframdr) =3 Ans.
E 11 ' |
PE) =~ Ans () PAUB)
WH&T-11 (MO (780)




P(A'UB')=P[(ANB)']

=1-P(ANB)
_,_1
=1 i
_4-1

4
:% Ans.

3

Given, P(A) = 3> P(B) = % , P(ANB) = }T

(i) P(AUB) = P(A) + P(B) - P(ANB)

3.1 _1
=8 t3 74
_9+8-6

24
17—6
24
:ﬁ Ans.
(i) P(A'NB') = P[(AUB)]
=1—-P(AUB)
_ 11
1=
_24-11
24
=% Ans.

Throw a single die the sample space ,
T U Pl b IR Ui qAfe,
S=1{1,2,3,4,5,6} ,n(S)=6

Let E = event of getting more than 4
AT E=4 9 g1 AT AT Bl g1

E={56} ,nE)=2

.. Required probability (31 Urfyahdr)

(E) 2 1
E(S)—€—§ Ans.

P(E) =

Two dice are rolled then sample space ,

3T O BT IBTeH R Ufiesl dAfe,

S={1,2,3,4,56}x{1,2,3,4,5, 6}
={(1,1), (1,2), (1,3), (1,4), (1,5), (1,6)
(2,1),(2,2), (2,3), (2,4), (2,5), (2,6)
(3,1), (3,2), (3,3), (3,4), (3,5), (3,6)

He&T-11 (oI

(4,1), (4,2), (4,3), (4,4), (4,5), (4,6)

(5,1), (5,2), (5.3), (5.4), (5.5), (5,6)

(6,1), (6,2), (6,3), (6,4), (6,5), (6,6)}

n(S) = 36

Given,
P(A or B) = P(A AT B) =P(AUB) = 0.7 ,
P(A and B)=P(A 3R B) =P(ANB) =0.3 ,
P(A)=04
P(A)=1-P(A)
=0.4=1-P(A)
=P(A)=1-0.4
—=P(A)=0.6
Now (319) we know (89 STHd )
P(AUB) =P(A) + P(B) - P(ANB)
= 0.7=0.6+P(B)-0.3
= P(B)=0.7+0.3-0.6
— P(B) =1.0-0.6
= P(B)=04  Ans.
Given, (fam ®)
P(A)=0.5,P(B) = 0.3
P(A and B) = P(ANB) = 0.1
(i) P(A or B) = P(AUB)

P(A I B) = P(A) + P(B) - P(ANB)
=0.54+0.3-0.1
=0.8-0.1=0.7 Ans.

(ii) P(A but not B) = P(ANB)
P(A W] B 7gl) = P(A) - P(ANB)
=0.5-0.1=04
(iii) P(B but not A) = P(BN A)
P(B 9R=j A 7igl) = P(B) - P(ANB)
= 0.3-0.1=0.2
(iv) P(neither A nor B)=P(ANB)

P(AT 1A & B) = P(AUB)
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= 1-P(AUB)
=1-0.7=0.3 Ans.
In a bag (Y& Il #)

white balls(A%g 1<) = 4

balck balls (@Tefl 7d) =5

total balls (@t ) =9
Required sample space (31 ufaesl wHfte)
S={W,W,,W,W,R,R,R,R, R}
n(S) =9
Let E = event of getting white ball
A E = q%e g 37 B gel

E={W,W,,W,W,; ,nE)=4

.. Required probability (3T¥se UTfirandr)

(E) _ 4
E(S) =9 Ans.

In a bag (T& ol #)
white balls (FHg <) =3

black balls (®Teil TE) =2

P(E) =

total balls (e i) =5

Required sample space (31 ufesl wHfte)

S={W,W,,W,B,B,} ,n(S)=35

Let E = event of getting black ball

A4 E = BTl 7 A $I "e
E=(B,B,},n(E)=2

Required probability (3Tf¥se YTfrandr)

(E) _2
E(S) =3 Ans.

P(E)=

Three coins are tossed togrther then sample space,
A Ryl Bl T |1 IBTe W Ufaae Fate
S = {H,T} x {H,T} x {H,T}

={HH, HT, TH, TT} x {H,T}

={HHH, HHT, HTH, HTT, THH, THT, TTH,
TTT}

n(S)=28

(182}

Let E = event of getting at least two tails
AM E= ®H — ¥ — $H al U 3 Bl "eAl

E = {HTT, THT, TTH, TTT}

n(E)=4
.. Required probability (31 UTirhar)
_n(E) _4 _1
Given ,
P(A)=2P(B) .ccecovvrverrnen. (1)

P(AUB) + P(ANB) = &
P(A) + P(B) - P(ANB) + P(ANB) = %
P(A) + P(B) = %

=
=

7
= 2P(B)+P(B)= ¢
=

3P(B) = 4
R P(B)=%
Eqn (1) (& (1))= P(A) =2 %X 95 = 15
7

Hence, (37ch;) P(A)Z% , P(B)Zﬁ Ans.

Long Answer Type Questions
(et Sada geA)

Two dice are thrown then sample space
S U Pl B W Yfaes gHfte
S={1,2,3,4,5,6} x {1,2,3,4,5, 6}
={(L,1), (1,2), (1,3), (1.4), (1,5), (1,6)
(2,1), (2,2),(2,3), (2,4), (2,5), (2,6)
(3,1), (3,2),(3,3),(3,4), (3,5), (3,6)
(4,1), (4,2), (4,3),(4,4), (4,5), (4,6)
(5,1), (5,2), (5,3), (54), (5,5), (5,6)
(6,1), (6,2), (6,3), (6.4), (6,5), (6,6)}
n(S)=36  Ans.

(i) E, = event of the sum of the numbers appeared
is 5.

$UR 3MdTel 3BT BT AT 5 BN B Tl
E ={(1,4),(23),(3.2), 4,1}

(i) E, = event of the sum of the numbers appeared




is less then 6 qET Wi T SF U a6 819 P gedT
SR AaTel bl BT ART 6 F HH M Bl geAT

!
E,={(1,1), (1,2), (1,3), (1,4), (2,1), (2,2), (2,3), n(E)=*C, = m
(3,1), (3,2), (4,1)} __ 4
(iii) E, = event of the number appeared in the 21 %21
first is greater than 3 _AX3IX2X] _ 6
Ugel U @ HUR ATl 3 3 A d<l B B 2X1Ix2x]
e .. Required probability (31¥ee TRIemar)
E,={(4.1),(4,2),(4,3),(4,4),(4,5), (4,6), (5,1), n(E)
(5,2), (5,3), (5:4), (5,5), (5,6), (6,1), (6,2), P(E) = n(S)
(6,3, (64), (6,5), (6,6)} 6 _ 1
=136 = 1 ns.

A leap year has 366 days , therefore, 52 weeks

and 2 days. -
: . ) 4. Two dice are tossed together then sample space
s 31fday # 366 fa1 B &, fora# 52 FwrE den g piesp
2 &9 8| 3T U BT SVTe R yfdes dafe
These two days may be (ﬁ Tl 8 & %) S=1{1,2,3,4,5,6} x{1,2,3,4, 5,6}
S = {(Sunday, Monday), (Monday , Tuesday), B
(Tuesday, Wednesday), (Wednesday, Thursday), ={(1.1), (1,2), (1.3), 1.4), (1,5), (1,6)
(Thursday, Friday), (Friday, Saturday), (2,1), (2,2), (2,3), (2,4), (2,5), (2,6)

(Saturday, Sunday)}
n(S) =7

(3,1), (3,2),(3,3),(3,4), (3,5), (3,6)

(4,1), (4,2), (4,3),(4,4), (4,5), (4,6)
Let E = Two favour the event that one of the two

days is & sunday (5.1), (5.2), (5.3), (5.4), (5.5, (5.6)
AT E = IfRad 7 R # & U IAaR 89 (6,1), (6,2), (6,3), (6:4), (6,5), (6,6)}
ge n(S) = 36
E = {(Sunday, Monday), (Saturday, Sunday)} Let E, = event of getting a doublet
n(E) =2 T E, = g 3 # ge,
. Required probability (31 Yrfreser) E ={(1,1),(2,2), (3,3), (4,4), (5,5), (6,6)}
P(E) = Eg =% Ans. n(E)=6

E, = event of getting a total 6
Let S be the sample space . E, = {(24), (3.3), (4,2), (1,5), (5,D}, n(E)) = 5

S %) . ENE={33) ,n(ENE)=1
n(S) = number of ways of selecting 2 cards out of . B n(E1) 6 B n(E2) s
S2. - P(E1)= n(S) =3 P(E2) = WS 36
52 O H 9 2 91 HeH & gt aid
i and P(ElﬂEz)zin(ElnEz) .
=G, n(S) 36
_ 52!
T x(52-2) .. Required probability (31Htc UTRreser)
_ 521 52X51
T 2IX500 2% 1 P(E,UE,)=P(E\)+P(E,)—P(E,NE,)
_ _ 6 5 1
= X = _6 5
26 X 51 = 1326 % + 36
Let E = event that both the cards drawn are aces. 10 5
=53 =70 Ans.
36 18
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5.

Let M= the students like Mathematics
HAET M= TfO1d 9 e arel fqemeff
C = the students like chemistry

AT UgE e drel faemeft
Now , n(S) =100, n(M) = 30, n(C) =20
n(MNC) = 10
) _n(M) _ 30
. P(M) = 2(S) — 100
_n(C) _ 20

_a(MNnC) _ 10
PIMNC) =" 5) =100

Required probability (319 YTfareser)
P(MUC)=P(M)+P(C)—P(MNC)
_ 30 20 10
100 ~ 100 100
_30+20—10
100

_50—10
100

40

- 4
100 10

He&T-11 (oI

2
5 Ans.

(184}






